Sub Item #
85600
85602
85603
85604
85606
85630
85632
85633
85634
85636
85662
85663
85664
85665
85666
85802
85804
85805
85823
85825
85826
86702
86704
86706

Kit Item List
Sub Item Description
M6-1.00 X 12MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M6-1.00 X 20MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M6-1.00 X 25MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M6-1.00 X 30MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M6-1.00 X 40MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M8-1.25 X 12MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M8-1.25 X 20MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M8-1.25 X 25MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M8-1.25 X 30MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M8-1.25 X 40MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M10-1.50 X 20MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M10-1.50 X 25MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M10-1.50 X 30MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M10-1.50 X 35MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M10-1.50 X 40MM STAINLESS STEEL HEX HEAD CAP SCREW DIN 933 A2-70
M6-1.00 STAINLESS STEEL FINISHED HEX NUT A2-70
M8-1.25 STAINLESS STEEL FINISHED HEX NUT A2-70
M10-1.50 STAINLESS STEEL FINISHED HEX NUT A2-70
M6-1.00 STAINLESS STEEL NYLON INSERT LOCKING NUT A2-70
M8-1.25 STAINLESS STEEL NYLON INSERT LOCKING NUT A2-70
M10-1.50 STAINLESS STEEL NYLON INSERT LOCKING NUT A2-70
M6 STAINLESS STEEL FLAT WASHER A2-70
M8 STAINLESS STEEL FLAT WASHER A2-70
M10 STAINLESS STEEL FLAT WASHER A2-70

Quantity
17
16
16
14
13

(AJ-b-bLﬂCD\JGJ@@IS

N WU R EFEPNEEFEPDN
O O O O o1 o1 ©O 01 Ul



